al7]
oz
eloi=X &




ol

[ OHE TEMl] MIZAIREM (FRI17ERIM 10%)E et 7l

I

1. 7212 {2 D2{ME S 25 E X 3.000.000, B77FXM HE)E D]
ol MIZALMAME WFE2 CHE = FI717IXIME M2lst AT =7 U2 X7
+EE X|F25l9 1 BIPIXIM= a2 2 X259

Fd21. M) = (AHM=E) 21 82) 7{EiA (22 M7E)
Zh I = 3.000.000 CH ) 812 3.300.000
FIIXIMCiE= 300.000

2. 7222 AM2LIEH0|A] AXHE (5.000.000, 2II7IXIMHEE) E Al 2 2512
MZAAME e HEQIC SHAL| 2SI | 2 ¢ 24HH| 100.000 2 S AMH[A2
20 si2e 2 " X250

Td21.3tM) S5 (M=) 271 (2.214h) 712i XM= A B
Zh Hx= 5.000.000 CH) 2| &0 &l= 5.500.000
F2IIXIMCiE= 500.000

oh

IC}

]

Al &HAist 2UHH| = DS CHH|Z0| 22 710 7|2t
OIHIXM F 72i22! 2IX|= 100.000 LCH) 8= 100.000



w

78 102 NE{HzIOC 2 EE| AIE (S=712M 10.000.000 F2717IX|M HE)S 12
I MZ2AHAME 22 oML 22 6262 0j]| XIZet A2 1.000.000¥2 22X

= ZHH0f| CH5l0{ D= M S| TS 2R E| o H2 521 A4=£0{S S MY =51
C

3@ 1ok o

——

w21 0M) FB (A=) 2 3.=8h 712iM (2 HE )

Zh A= 10.000.000 CH) M2= 1.000.000
217X Ml CH22 1.000.000 HE20{= 10.000.000( A{2%ICh

4.78 122 BAIAE0 SUTSA| YHIMH|ZAHS AAISIHOH SBACES 1942
(RIITEXIM EE) 2 AIZBIALR! A0 4S0IS S La5t0] XIZSHD MBHMM
£ 2315190 SS 2N NSE M2 2 )

Fa21.10tM) Y (A R]) 291628 712X Gl )
ih = 100.000.000 CH ) 0| X|22 110.000.000
EI7IXIMCIE & 10.000.000

5. 7815 ZE0]| U= FAH &0 =277 |E MX|SIFCE SCHAOIA] AX|st =2l
Hi717 |2} AX|H|E2 = 3.000.000(FE7I7IX|M EHE)0[ A2 MZALMME =5
SICI CH=22 M Shxl+8E E 250 X|=51CH (K22 | Alet 7))

Fa@21.0tM) 9 (=2i2717)) .= eh 712id & Y
*h H|E 3.000.000 CH) = Z10d= 3.300.000
BI171XIMl 22 300.000



6. 7817H J|H=EE 0 E HFAI0 AlZlstl 211H| (S=712 450.000 FI17HA|
Ml 'E=)0ll CH5H0 MISAIMME Ea RIQICE 252 CiSE #4tis 0t & A
=017 |2 5 2iC}
F&(21. BiM) Y (E2b]) 2l 3.=8h {2lix( F) X
X 2 MZH| 450.000 LCH) O|X|== 495.000

BEI71XIM CHE2& 45.000

[ OHE SAM MIZAMM (FIE7EXIM 0%)E 5

rok

F 7{2}

1. 72202 HAUXIOIN £EE AMEES LIZAST0 oI5 PG ST SMSH
SAAME LRurolrt 2ATHE TUCHZ 20.000.00092 HoH SESEE L
5t0f XIZstACH

7 22.9M) Y &= ) 24 (3. =&h 712X (M| HX])
Zh | X2 20.000.000 CH) EZ}0{= 20.000.000

2. 721222 Fl=2 LUEHH Ol SREHAOZHE] L 2 A2 EH| o5 =2 N=E M
A0 AFZE! /XHE 10007 EE7} 5.000¥ S HHE B0 MIFAIANA (HAM=)S ag it
QLI CF2 MU 0{S= wrellsiof X|=25H2ALC

7 (22.84M) FE FHE) 2H(3.28h el A (STFH)
xh x= 5.000.000 CH) X|F0{S 5.000.000



[OHEd EHAMl AlIMM S =3 et 7]

1. 7825 @ HXI22E SAl2| A= EEE =ELF 0 CHSt AlLM 13K
7124 80.000& FII7IX|MI= f1)E &l SI522 A|=6I2UCE

OH

—1
| — |

d23.HM) FY (=23 ) B &x) {2l E BX|
7‘:}) = ThodH| 80 000 CH) 1= 80.000

2 781 262! FHX|ZEE] WA AR FLYAMSIOM AHRE &ZZ 7194 800.000)
S HoH QAIOE TOI5T HIAME W HIOIT) (AANS SIALOIN REE HZstn
T

) S &) 270 3. S8 HHH @ Xl

23.0
SEd|=Md Isoo 000 CH) O|X|=2= 800.000

3. 78 282 ) GX|0l| S OH=SH HALO ELH7| f#lsHM S 70.000A 0] 2| 2=
Teota A MM S T RIUC

Fa23. HM) &Y &) 2H (3 =28h 712 EHX]|
Ah &CHd| 70.00 LCH) O|X|Z= 70.000



